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L »ar v. ;a0 '3 re: nYpn
a. »an: only bread of nknv N1 IN may be kept around; re: wheat, we are concerned lest n%pn
b. 711’3 even wheat; as long as it is dampened and made inedible
i. Per:»wR "1's explanation of the use of nknv NN wheat in *27 72
II. Interaction between RXinn 92 817 and students of nan
a./mwp: 10 MmN - i plants which were XY are not 8non but are 51589 D OR
i. Students: 91389 DMOR — to non-01N3 (i.e. retains status of nM1IN)
ii. Challenge (Xanp 72 837): already have a mwn (1:0 mmn) that N nman "1 — even 2nd level (P13 191713)
1.Provided: that the seeds don’t germinate
2. Answer (Y 37):2198% OR - to 013 because of Y10a: “NYTn NN (NYW 13)
a) Challenge (to 83119 72 X27): this only works if we accept nyTh no’n as an independent 5109
b) Per: dispute 5"1/"1 about nyTn non
i. 7 77 ARMY Y108 (we're concerned that it became Xnv in the meantime)
1.Proof: depository for 1yn nron *51va between ramp and narn
2.And if: it were a Qun 909, could be burned immediately
a.>”r. follows opinion that even %14 needs disfigurement before burning
ii. v 77 (proof #2): if the meat is k01 OR Y09, dispute if the blood is sprinkled
1.Can’t be: that Y091 is a RN NRMY (same as RNVI); must be NYTH No”N
a. All agree: that if it were pn1 - accepted via prxn »n¥m
b. Therefore: must be nkm 5109, that's why % is nxn
i 571 "yoar” refers to oy 911v N0
c)Challenge (to mww ") from A waters to be used for nnn o2 that became xnv
i. If: he mixed them into the Mpn (npwn) and then designated them — valid (not inverse)
1.In other words: no “planting” for wTpn; no planting for NN (i.e. doesn’t change earlier status)
2.7aN’s question: is there a “higher threshold” of designation in the *93, or even 8”ya?
a.Proposal: 13m 1 allowed Rnv grapes that were stomped before designation
i. Akin to: oral designation — higher threshold still holds
ii. Response: analogy is weak; grapes have no other designation, unlike waters
ii. Tangent: 3y "1 permitted XNV grapes — even many?
1.Possibility1: only less than n¥»13 (as above)
2.Possibility2: in this case, thye had only touched a nkmv% 1W, becoming a NRNVY WYV
iii. Examples: of n9yn (higher threshold for nwTp)
1. 427 nRon 'n may be brought via a vessel (v. 1)
a./15vp: dictates that they may be taken directly from water-source
2.7wx 72 22w ’7. Tequirement to wait until next day to eat »wTp (in spite of v. 2) %7 wyn
3.7wx ’1. extension of NRMV to N2 DINY
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